	High School Class	College Class	Credit Hours	Tuition	Tuition Cost	Books & Materials (Approximati on)	High School Credit	College credit required when taking course
Newman 3.0 GPA required for	English 12 (10321)	College Writing I (English 1003)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
all classes	Fund. of Oral Comm. (11487)	Fund. of Oral Comm. (Comm 1013)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	0.5	Optional
	AP Literature (10101)	Intro to Literature and Criticism (English 2003)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
	College Algebra (20075)	College Algebra (Math 1043)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
	Pre-Calculus (20143)	Trigonometry (Math 1053)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
	AP Calculus I (20099)	Calculus I (Math 2015)	5 cr. hrs.	\$75 / credit hr	\$375	Supplied by USD 266	1.0	Optional
	AP Calculus II (20100)	Calculus II (Math 2025)	5 cr. hrs.	\$75 / credit hr	\$375	Supplied by USD 266	1.0	Optional
	AP Biology I & II (40098 & 40218)	Gen. Biology & Lab (Bio 1013/1011)	4 cr. hrs. per semester	\$75 / credit hr	\$300	Supplied by USD 266	2.0	Optional
	Chemistry II Honors (40289)	Chemistry & Lab (Chem 1013/1012)	5 cr. hrs.	\$75 / credit hr	\$375	Supplied by USD 266	1.0	Optional
	AP Chemistry (40100)	Chemistry & Lab (Chem 1023/1022)	5 cr. hrs.	\$75 / credit hr	\$375	Supplied by USD 266	1.0	Optional
	AP United States History 1 & 2 (30807 & 30085)	APUSH 1: American History 1 (HIST 1033) APUSH 2: American History 2 (HIST 1043)	6 cr. hrs. total (can take HIST 1033 or HIST 1043 only for 3 cr. hrs. each)	\$75 / credit hr	\$450	Supplied by USD 266	2.0	Optional
	AP Government (30805)	American Government (PSN 1003)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
	Statistics Honors (20103)	Probability & Statistics (Math 2033)	3 cr. hrs.	\$75 / credit hr	\$225	Supplied by USD 266	1.0	Optional
WSU Tech in the District 2.5 GPA	Accounting I (61021)	Fundamentals of Acctg (ACC 105)	3 cr. hrs.	-	-	Supplied by USD 266	1.0	Optional
	Marketing (62005)	Principles of Marketing (BUS 140)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	1.0	Optional

Consumer and Personal Finance (61070)	Personal Finance (BUS 130)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	*** Dual credit option only available at MSHS	Optional
Business Essentials (60326)	Introduction to Business (BUS 104)	3 cr. hrs.	•	-	Supplied by USD 266	0.5	Optional
Business Management (61103)	Principles of Management (BUS 200)	3 cr. hrs.	ı	-	Supplied by USD 266	0.5	Optional
Adv. Computer Applications (60361)	Adv Comp Apps (CED 115)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	0.5	Optional
Art Appreciation (80132)	Art Appreciation (Art 100)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	1.0	Optional
Anatomy & Physiology (40096)	Anatomy & Physiology (BIO 150)	5 cr. hrs.	\$80 / credit hr	\$400	Supplied by USD 266	1.0	Optional
Pre-Medicine Anatomy & Physiology (40911)	Anatomy & Physiology (BIO 145 & BIO 146)	8 cr. hrs.	\$80 / credit hr	\$640	\$88 Online Access Textbook Fee	2.0	Yes
Pharmacology (40751) Medical Terminology (40748)	Pharmacology fo Allied Health (ALH 155), Medical Terminology (ALH 101)	6 cr. hrs.		-	-	1.5	Yes
Health Care Research & Clinical Skills (40744)	Diseases, Disorders & Diagnostic Procedures (ALH 131)	2 cr. hrs.		-	-	1.0	Optional
Certified Nurse Aide (40760), Home Health Aide (40776)	Certified Nurse Aide (GRA 101), Home Health Aide (HHA 100)	7 cr. hrs.	<u>-</u>	-	\$85.00 (Essentials of Nursing Assistants), \$12 (KDADS Curriculum); \$115.78 scrubs, WATC patch & Gait belt, Cert. test req'd for CNA & HHA	1.0	Yes
Principles of Nutrition (40103)	Principles of Nutrition (A	3 cr. hrs.	\$80 / credit hr	\$240	-	0.5	Yes

Certified							
Medicine Aide (40762)	(GRA 119)	5 cr. hrs.	-	-	-	0.5	Yes
Phlebotomy - Clincial Procedures (40774)	Clinical Laboratory Procedures (MEA 125)	4 cr. hrs.	-	-	-	0.5	Yes
EKG for Health Care Providers (40775)	EKG Technician	4 cr. hrs.	-	-	-	0.5	Yes
Sports Medicine (40755)	Introduction to Athletic Training Profession (PED 120)	3 cr. hrs.	\$80 / credit hr	\$240		1.0	Optional
Law Enforcement I & II (30840 & 30843)	Criminal Investigations (CRJ 105), Agency Administration (CRJ 115), Law Enforcement Operations (CRJ 125), Criminal Procedures (CRJ 130)	12 cr. hrs.	-	_	-	2.0	Optional
Engineering Project Management- Airplane Build (40821) /Engineering Workplace Experience (40823)	Safety/OSHA (AVC 110), Aircraft Familiarzation (AVC 105), Fundamentals of Aerospace Manufacturing (AVC 107), Bluepring Reading (AVC 112), Bonding & Grounding (AVC 125), Hand Tools (AVC 135), Power Island (AVC 145), Assembly Mechanic Orientation (AER 140)	19 cr. hrs.	ı	-	-	1.0	Yes
Physics Honors (40095)	General Physics (PHS 120) Must have a 21 in the math section of the ACT or pass WSU Tech's EdReady College Algebra Readiness test	5 cr. hrs.	\$80 / credit hr	\$400	Supplied by USD 266	1.0	Optional
Psychology (30155)	General Psychology (PSY 101)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	0.5	Optional

		Principles of				Supplied by USD		
	Sociology (30353)	Sociology (SOC 101)	3 cr. hrs.	\$80 / credit hr	\$240	266	0.5	Optional
	Ethics (30750)	Ethics (PHL 110)	3 cr. hrs.	\$80 / credit hr	\$240	Supplied by USD 266	.5 *** Dual credit option only available at MSHS	Optional
	Developmental Psychology (30156)	Developmental Psychology (PSY 120)	3 cr. hrs.	\$80 / credit hr	\$240	Essentials of Life- Span Development 4th ed. \$187.50	1.0	Yes
	Accounting I (61021)	Fundamentals of Acctg (ACC 105)	3 cr. hrs.	-	-	-		Yes
	Marketing (62005)	Principles of Marketing (BUS 140)	3 cr. hrs.	\$80 / credit hr	-	-	0.5	Yes
		Intro to Veterinary Medicine (VET 102) /Veterinary Assisting I (VET 121) /Veterinary Practice Management (VET 106)	3 cr. hrs.	<u>-</u>	<u>.</u>	-	1.0	Yes
		Vet Assisting II (VET 141)/ Laboratory and Diagnostic Skill (VET 116)						
	Vet Assisting 2		2 cr. hrs.	-	-	-	1.0	Yes
WSU Tech Block			8 credit hours		\$2	40		
	Auto - 03509	-		-			2.0 per Semester	Yes
	Aviation Core - 03511	-	AMT = 11	_	Short term aviatio and sheet met maintenance Sem 3&4	al. For aviation	2.0 per Semester	Yes
			Varies but classes are typically 3 credit hours students typically take 2 or		Book co	osts vary		
	Business - 03000	-	3 classes	-	No cost		2.0 per Semester	Yes
	CATIA - 03010	-	8	-	No	cost	2.0 per Semester	Yes

	Construction Science - 03512	-	15	-	Semester 1 \$170.60 Semester 2 \$133.30		2.0 per Semester	Yes
	Drones-		11		No cost		2.0 per Semester	Yes
	EMT - 03002	-	12	-	\$222.95		2.0 per Semester	Yes
	Healthcare Exploration - 03003	_	15	_	\$2	76	2.0 per Semester	Yes
	HVAC - 03520	-	11	-	\$2	40	2.0 per Semester	Yes
	Interior Design - 03005	-	12	-		er 1 \$276 er 2 \$196	2.0 per Semester	Yes
	IT Systems - 03528	_	12 for either computer support and cyber security	_	Computer Support Sem 1 \$241 Computer Support Sem 2 \$260 Cyber Security Sem 1 \$241		2.0 per Semester	Yes
	Machining - 03006	-	16	-	-	28	2.0 per Semester	Yes
	Police Science - 03007	-	Varies but classes are all 3 credit hours. Students typically take 3 classes	-	Full prog	ram \$619	2.0 per Semester	Yes
	Sheetmetal - 03009	-	13	-	No cost		2.0 per Semester	Yes
	Welding - 03510	-	14	-	No	cost	2.0 per Semester	Yes
WSU	Introduction to Teaching	Introduction to Teaching (CI 270)	3 cr. hrs.	\$25 app fee	\$100	Supplied by USD 266	1.0	Optional
	Teaching Observation (70687) AND Teaching Internship (70683)	Introduction to Diversity: Exceptionalities (CI 320)	2 cr. hrs.	\$25 app fee	\$100	Supplied by USD 266	1.0	Optional
	Human Growth & Development AND Families Studies	Introduction to Diversity: Human Growth & Development (CESP 334)	3 cr. hrs.	\$25 app fee	\$100	Supplied by USD 266	1.0	Optional
Butler CC 3.25 GPA OR ACT English 18, Reading 15 OR Accuplacer	Foundations to Early Childhood (70675)	Principles of Early Childhood Education I (CD 122)	3 cr. hrs.	-	-	Supplied by USD 266	1.0	Optional

Hutch CC 2.50 GPA	Emergency Medical Technician I (30830) & EMT II (30831)		10 cr. hrs.	-	-	-	1.0	Yes
	Fire Science I (30810) Fire Science II (30811)	Fire Science 110 or Fire Science 150	5.5 cr. hrs.	-	-	Supplied by USD 266	2.0	Yes